| have devised a test cases below.
Please note, my code has been devised by simply creating test scenarios. And building
all the logic outwards again.. But this time, | had visual aids to identify the constraints.

TEST CASE 1:

-4

CASE 1
ut.println(“"The overlapping area i " + overlappingArea(r int[1{-5. 1 int[1{-2, -1}, new int[]{-4, -2}, new int[]{@, 2}));
mLeft I ght //re Left //rect2TopRight

WIDTH: 2
HEIGHT: 1

The overlapping area is: 2

TEST CASE 2:
I have simply flipped the dimensions for the two rectangles

2 - same as , but it will flip ceoordinates of the two recta
stem.out.println("The overlapping area is: " + overlappingArea(ne
/ ttomLeft ffrectlTo

WIDTH1: 2
HEIGHTZ: 1

The overlapping area is: 2




TEST CASE 3: Now trying two rectangles both in the negative axis

8 1] -4 -2 0
-2
-4
L
-6

.out.println("The o s: " int - new int[]{-4, - new int[]{-5, -4}, new int[]{-3, -1}))

WIDTH: 1
HEIGHT: 1

The owverlapping area is: 1

Similarly, | have flipped the rectangles
TEST CASE 4:

/T

ut.println("The overlappin a i + overlappingfArea(n i - new int[]{-3, -1},new int[]{-6, -5}, new int[]1{-4, -3}));
nLeft ffrectl g ! omLeft //rect2

WIDTH1: 1
HEIGHTZ: 1

The overlapping area is: 1

TEST CASE 5: Perhaps this should have been the first test  FAIL
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»  new int[]{8, 4}));

WIDTH1: -6
HEIGHT2: -1

The overlapping area is: 6

We were expecting width=2 height =1

I will quickly investigate:

| have inputted a substantial amount of code to deal with situation of all dimensions
being in positive axis.

Itis still quite difficult to imagine how this logic differs to other test cases. But we can
see rectangles in relation to each other, one is in top left and other in bottom right.

| have introduced lots more code, it will be difficult to add relevant comments.. But it
will be available in my repository.

TEST CASE 5a:

8
WIDTHG: -2
HEIGHT&: -1

The overlapping area is: 2

I have now flipped the rectangles as per usual

rintln("The overlapping area is: " + overlappingArea(n

TEST CASE 6:

WIDTH3: 2
HEIGHT3: -1

The overlapping area is: 2




TEST CASE 7:

I

.out.println("The overlapping area is: " + overlappingArea(r t[1{-4. 2}, new int[]{1, 4},new int[]{

/rectibo eft //rectiTop

WIDTHS: 3
HEIGHTS: -1

The overlapping area is: 3

As usual, | have flipped the rectangle dimensions around...

.out.println("The overlapping area is: " + overlappingArea(r t[1{-2. 3}, }.ne. t[14{- new int[1{1, 4}));

TEST CASE 8:




TEST CASE 9:

-10 -8 -6 -4 -2 0

| have reached this test case and | can see that | have not explored this at all...

Currently when executing the code we are in this section:

tem.out.println({"rectl bottom left: " + rectlBottomLeft[8]);
em.out.println{"rect2 top right: " + rect2TopRight[e]);

width=Math.abs(rectlBottomLeft[8])+Math.abs(rect2TopRight[@e]);
tem.out.println("width: " + width);
Math.abs(@-rectlBottomLeft[1]) - Math.abs(@-rect2TopRight[1]);

We can see that perform Math.abs(4) + Math.abs(8) will give 12.

rectl bottom left: -8
rect2 top right: -4
12

The overlapping area is: 12

But we can see infact, we require width to be different if the shapes overlap exactly at



top right

We expect every scenario tested so far to be susceptible to this.

For now, | will just address this scenario.

But perhaps, we require a method to perform a level of validation... This will save repeat
code.

For now, | have just resolved the issue with following code:

/ fo
if (rectiTopRight[@]==rect2TopRight[8])

m.out.println(rectiBottomLeft[e]);

width=Math.abs({rect2BottomLeft[8])-Math. abs(rectiTopRight[8]);
m.out.println("widthi@: " + width);

height = Math.abs(8-rectlBottomLeft[1]) - Math.abs(8-rect2TopRight[1]);
em.out.println{“heightle: " + width);

TEST CASE 9a:

tln("The overlapping area is: " + overlappingAre

rectl bottom left: -8
rect? top right: -4
-8

widthie: 2

heighti@: 2

The overlapping area is: 2

I will now flip the scenario as per usual:

TEST CASE 10:

E 18
out.println("The overlapping area is: " + overlappinghre

widthil: 2
height1l: 2

The overlapping area is: 2




TEST CASE 11: This is to see if it identifies no overlaps
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Solution.java +

import java.util.*;

public class Solution
{
public static int overlappingArea(int[] rectlBottomLeft, int[] rectlTopRight, int[] rect2BottomLeft, int[] rect2TopRight)
{
int widt
int height

if (rectiBottomlLeft ect2TopRight[8]
|| (rect2BottomLeft[ ct1TopRight[8])
|| (rectiBottomLeft[1 ect2TopRight[1])
|| (rect2BottomLeft[1]>=rect1TopRight[1]))

n.out.println{"NO OVERLAP FOUND");
em.exit(e);

/TE 11
em.out.println("The overlapping area is: " + overlappingArea(r

NO CWERLAP FOUND

I will now need to perform a few tests similar to test case 9.

I will use previous test cases and try to create similar situation...



TEST CASE 12:

ASE 12
tem.out.println("The overlapping area is: " + overlappingArea(new t[1{-4, -2}, n nt[1{@, 2},new int 3, -1}, new int[]{
//rectlb eft /frectlTo ght [ire ottomLeft

width: 3
height: 3

The overlapping area is: 9

Rotating the rectangles as per usual
Butl can see | had to disrupt the area of code for Test case 9.
This was not ideal.



TEST CASE 13:

Solution.java +

/T

.out.println("rectl bottom left: " + rectlBottomLeft[8]);

n.out.println("rect2 top right: " + rect2TopRight[

if (rectlTopRight[8]==rect2TopRight[8])

if (rectlBottomLeft[@]>rect2BottomLeft[8])

.abs(rectiTopRight[¢
Math.abs(rectlTopRight[1]

th.abs(rect2BottomLeft[8])-Math.abs(rect2TopRight[e]);
abs({rect2BottomLeft[1])+" .abs (rect2TopRight[1])
" + width)

em.out.println("The overlapping area is: " + overlappingArea(new int[]{ ’ 2},new int[1{-4,

rectl bottom left: -3
rect? top right: @

The overlapping area is: 9

Test case 9 now fails..
rect2 top right: -4
width: 2
height: 4

The overlapping area is: 8

El

new int[




| also need to consider the other possibility of a similar scenario in which the
rect1BottomLeft aligns with rect2BottomLeft and examine similar principle to above of
one shape fitting exactly inside another (this will be part of test case 14).

I can imagine this becoming extremely messing in which | will be displacing existing test
cases...

It suggests to me that in this code, my primary objectives need to consider if one shape
fits inside another (whether exactly) or fully.

I would then need to consider if there is a partial overlap.

I will not continue with this coding attempt as | can imagine problems will continue to
compound.

Other miscellaneous photos to try and visualise the challenge:
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